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B.B.A. III Semester Degree Examination, April/May - 2024

MANAGEMENT

DSC - 08 : Organisational Behaviour

(NEP)

Time : 2 Hours Maximum Marks : 60

SECTION - A / « s̈ÁUÀ - J

Answer the following sub-questions. Each sub-question carries 1 mark. 10x1=10

F PÉ¼ÀV£À G¥À-¥Àæ±ÉßUÀ½UÉ GvÀÛj¹j. ¥Àæw G¥À-¥Àæ±ÉßUÉ MAzÀÄ CAPÀ.
1. (a) What is Organisational Behaviour ?

¸ÁA¹ÜPÀ £ÀqÀªÀ½PÉ JAzÀgÉÃ£ÀÄ ?
(b) What is Perception ?

UÀæ»PÉ JAzÀgÉÃ£ÀÄ ?
(c) What is Group Dynamics ?

UÀÄA¥ÀÅ qÉÊ£Á«ÄPïì JAzÀgÉÃ£ÀÄ ?
(d) What is Team Dynamics ?

vÀAqÀ qÉÊ£Á«ÄPïì JAzÀgÉÃ£ÀÄ ?
(e) What is the meaning of change ?

§zÀ̄ ÁªÀuÉ JAzÀgÉÃ£ÀÄ ?
(f) What is planned change ?

AiÉÆÃfvÀ §zÀ̄ ÁªÀuÉ JAzÀgÉÃ£ÀÄ ?
(g) What is meant by Organizational Development ?

À̧A Ȩ́ÜAiÀÄ «PÀ̧ À£À JAzÀgÉÃ£ÀÄ ?
(h) Mention any two situations appropriate for Organisational Development.

À̧A Ȩ́ÜAiÀÄ «PÀ̧ À£ÀPÉÌ À̧ÆPÀÛªÁzÀ AiÀiÁªÀÅzÁzÀgÀÆ JgÀqÀÄ À̧¤ßªÉÃ±ÀUÀ¼À£ÀÄß ¥ÀnÖ ªÀiÁr.

(i) What is Organizational Development Intervention ?

¸ÁA¹ÜPÀ «PÀ̧ À£À ºÀ̧ ÀÛPÉëÃ¥À JAzÀgÉÃ£ÀÄ ?

(j) What is Human Process Interventions ?

ªÀiÁ£ÀªÀ ¥ÀæQæAiÉÄAiÀÄ ªÀÄzsÀå¹ÜPÉUÀ¼ÀÄ JAzÀgÉÃ£ÀÄ ?
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Note : Answer all the Sections.

À̧ÆZÀ£É : J¯Áè « s̈ÁUÀUÀ¼À£ÀÄß GvÀÛj¹.
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SECTION - B / « s̈ÁUÀ - ©

Answer any four of the following questions.  Each question carries five marks.

F PÉ¼ÀV£À AiÀiÁªÀÅzÁzÀgÀÆ £Á®ÄÌ ¥Àæ±ÉßUÀ½UÉ GvÀÛj¹j. ¥Àæw ¥Àæ±ÉßUÉ LzÀÄ CAPÀUÀ¼ÀÄ.

2. Explain the determinants and traits of personality.

ªÀåQÛvÀézÀ ¤uÁðAiÀÄPÀUÀ¼ÀÄ ªÀÄvÀÄÛ UÀÄt®PÀëtUÀ¼À£ÀÄß «ªÀj¹.

3. Explain the determinants of Group Behaviour.

UÀÄA¥ÀÅ £ÀqÀªÀ½PÉAiÀÄ ¤uÁðAiÀÄPÀUÀ¼À£ÀÄß «ªÀj¹.

4. Explain the importance of planned change in the organisation.

À̧A Ȩ́ÜAiÀÄ°è£À AiÉÆÃfvÀ §zÀ̄ ÁªÀuÉAiÀÄ ªÀÄºÀvÀéªÀ£ÀÄß «ªÀj¹.

5. Explain the process of Organisational Development.

À̧A Ȩ́ÜAiÀÄ «PÀ̧ À£À ¥ÀæQæAiÉÄAiÀÄ£ÀÄß «ªÀj¹.

6. Explain how to design Effective Interventions.

¥ÀjuÁªÀÄPÁj ºÀ̧ ÀÛPÉëÃ¥ÀzÀ «£Áå À̧ªÀ£ÀÄß ºÉÃUÉ ªÀiÁqÀ̄ ÁUÀÄªÀÅzÀÄ «ªÀj¹.

7. Explain the Technostructural Interventions of Organisational Development.

¸ÁA¹ÜPÀ «PÀ̧ À£ÀzÀ mÉPÉÆßÃ À̧ÖçPÀÑgÀ̄ ï ºÀ̧ ÀÛPÉëÃ¥ÀªÀ£ÀÄß «ªÀj¹.

SECTION - C / « s̈ÁUÀ - ¹

Answer any three of the following questions. Each question carries ten marks.

F PÉ¼ÀV£À AiÀiÁªÀÅzÁzÀgÀÆ ªÀÄÆgÀÄ ¥Àæ±ÉßUÀ½UÉ GvÀÛj¹j. ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßUÉ ºÀvÀÄÛ CAPÀUÀ¼ÀÄ.

8. Explain in detail about the perceptual process and perceptual errors.

UÀæ»PÉAiÀÄ ¥ÀæQæAiÉÄ ªÀÄvÀÄÛ UÀæ»PÉAiÀÄ zÉÆÃµÀUÀ¼À §UÉÎ «ªÀj¹.

9. Explain different categories of Organisational Development Intervention.

¸ÁA¹ÜPÀ «PÀ̧ À£À/C©üªÀÈ¢Þ ºÀ̧ ÀÛPÉëÃ¥ÀzÀ ««zsÀ « s̈ÁUÀUÀ¼À£ÀÄß «ªÀj¹.

10. Explain comprehensive model for diagnosing organisational systems.

¸ÁA¹ÜPÀ ªÀåªÀ̧ ÉÜAiÀÄ PÀÄAzÀÄ ¤tðAiÀÄ/gÉÆÃUÀ ¤tðAiÀÄzÀ ̧ ÀªÀÄUÀæ ªÀiÁzÀjAiÀÄ£ÀÄß «ªÀj¹.

11. Explain different sources of resistance to change in an organisation.

À̧A Ȩ́ÜAiÀÄ°è §zÀ̄ ÁªÀuÉUÉ ¥ÀæwgÉÆÃ¢ü̧ ÀÄªÀ ««zsÀ ªÀÄÆ®UÀ¼À §UÉÎ «ªÀj¹.

12. Explain different ways of resolving conflict.

À̧AWÀµÀð (PÁ£ï¦üèPïÖ) §UÉºÀj À̧ÄªÀ ««zsÀ ªÀiÁUÀðUÀ¼À PÀÄjvÀÄ «ªÀj¹.
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4x5=20

3x10=30


